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Simplifying Square Roots
Simplifying the following square root.
EXAMPLE 1:

Jig

Decide if the number inside the root is a perfect square.
Since 48 is not a perfect square, you must look for a factor of 48
that is a perfect square.

V16 * 3 16 is a perfect square, and 16 * 3 = 48

4 is the square root of 16, leaving the 3 inside.
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EXAMPLE 2:

Voz

First, decide if 92 is a perfect square. Since it is not, we must look
for a factor of 92 that is a perfect square.

V4 *23 4 is a factor of 92, and 4 * 23 = 92

2 is the square root of 4, leaving the 23 inside.
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EXAMPLE 3:

5V153

First, decide if 153 is a perfect square. Since it is not, we need to
find a factor of 153 that is a perfect square.

59 *17 9is a factor of 153,and 9 * 17 = 153
54377 3 is the square root of 9, leaving the 17 inside.

1517 The 3 and 5 are multiplied together.
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Simplifying the following square root.
EXAMPLE 4:

4142

First, decide if 142 is a perfect square. Since it is not, we must
look for a factor of 142 that is a perfect square.

Since 2*71 is the only way to factor 142, we cannot
simplify it. So we leave it alone.




